ANIE

o EHRANE: G=(N,F,R,S)
- N: FRImEEEDER
- F: #Rimses (BAWES) DESR
- R: & HADES
LZERFRRAIEL T ORI
A—-a (Ae N, ae T(FUN))
- S (e N): FtREE=S




o Bl : G = ({List, Nat}, {0, nil, s(),cons(,)}, R, List)
ZIT. RIBUTDERNLRS
List — nil, List — cons(Nat, List),
Nat — 0, Nat — s(Nat)
- cons(s(0), nil) DERK
List
— cons(Nat, List)
— cons(s(Nat), List)
— ¢ cons(s(0), List)
— ¢ cons(s(0), nil)




e BHER - (CT(FUN)Xx T(FUN)): UTF%ias
ERS-UNOE =)
- RC —¢
-a—=o fRLEf(Ca- ) =g fG B
e GNNERT HEEE :
L(G)={s|S—=LseT(F)}




o EIE : IFFRRARIENE

ERY B

==h
= QaT=]

DY Z A&, 1

CIRARE R

e SFFA(D): NFTA A= (Q,F,Qf, A)h I
G=(QU{SY,F, R S) &S, I TRIZLLTDHRA,
-RageQfitownwT, S =g

- & f(q1,---5qn) = qIC2PWT, ¢ — f(q1,- ..

ERRARSOR

y qn)

o BSSE(C) : EHAXEG = (N,F,R S)H5NFTA
A= (NUQ,F,{S},A) &3

- List — cons(s(Nat), List) € RICX L T, R
RRgZzBAL. UTDELDICAFRKAZES

s(Nat) — q

cons(q, List) — List



o H156-1:F = {a,9(), f(,)} &£ T %, ¢ =2FEREET S
DLTFONFTA & & flARERANESES =t

a — (qa a — q|

f(qa,q1) = @1 g(q1) — q1
g(q1) = g« f(q1,q91) = q1

e H5-2:F ={a,90),f(,)}&T %, XZHIBELETET S
LUTRDERAREEFMENFTAZRYE
X — f(g(A), A)
A —g(g(A))
A—a
o E5-3:4R—VDIAHD) ZEXIE L, TAabHB, £
BDte T(F), qeQ, ne NIZH LT, t =7 ¢ IE
q =Lt THBI E2nllEAT BIFNETTRE,




IERASRIR

o fl: f(O,0)" ma & ERBTHS(),a})ERTIERAK
=R

o Bl : ()Y o 0lk, EFE{s"(0) |n>0}&EKRTIEHRAK
KRR

o il : cons((s(O1)*" 1 .o, 0),05)%"2 .o, nilld, List%
R IEHRARKE




e EIMAZRIEZHNODESK = {0O4,...}
o REA: (RS54 K1 DRALIZERDZDTEE)
te T(FUK), 8L, ZKRKS&ET 5
t{01 < Lq,...,0pn < Lp}
L c-if t =0,
a o ift=a€e F
{f(t1,...,tn) | t; € 5,{01 <= L1,...,0n < Ln}}
| o ift = f(81,...,5n)

7\

L{01 <« Lq,...,0p, <« Lp}
teL

o Bl : f(O,0){0 «+ {a,b}}
= {f(a,a), f(a,b), f(b,a), f(b,b)}



e EELMDEE
- 8¥%: L.g M=L{0,— M}
- ~RE- 10U — {Di}a Lk+1.0, — k0T, o, k.0,
-Ea: LoBi= |y b

k>0
O ooy =
FEI) -
{F(D o), £(D, £(3, 0)),
0,09 Fla,a), Fla FO, D)),

3



o FHAARKRINE &EZENNKRTASE[E]:

EIE

- QIFIERARKRIZT. [0] = {}

-a € FUKIRERAKIRT, [a] = {a}

J®iN : £, E;,DNIEFRARIRD & X,
-feFDEE, f(Eq,...,Ey)lFEHRAKRKIRT,

[f(E1,-- s En)] = {f(t1,.- - tn) | t; € [E1]}
- B1+ ESIFIERARRIRT, [E1+ E>] = [E1] U [ES]
- E1 .o; Ep IR IEFRARKRIR T,

[E1 .0; E2]l = [E41] o, [E-]]
- ESPRERARE T, [ESY] = [E]S




e E5-4: F={a,90),f(,()} LOEEZZZAS
Ly ={g"(a) | k> 0}

Lo ={f(t1,t2) | t1,to € L1}
CDEE, L1 UL>Z2RIIEHRARIRZET
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